Grade 3 ABRSM Day One Day Two Day Three
Piano
Similar motion
Two octaves A major D major E harmonic minor
Legato HT E harmonic minor G harmonic minor | G harmonic minor
J =80, two notes
per beat.
Similar motion B>major RH Ebmajor RH B’major RH
Two octaves B minor RH C minor RH C minor RH
Legato HS EPmajor LH B minor RH B major LH
J =80, two notes C minor LH B’major LH EPmajor LH
per beat. B minor LH B minor LH B minor LH
Contrary motion
Two octaves
Legato E major E major E major
J= 80, two notes
per beat.

Chromatic contrary

motion
1 octave Starting on D Starting on D Starting on D
J = 80, two notes
per beat.
Arpeggios
Two octaves _ . :
Legato HT D major A major D major
J=72 two notes G minor G minor E minor
per beat.
Arpeggios Bb major RH B’major RH B’major RH
Two octaves B minor RH E> major RH B minor RH
Legato HS Bbmajor LH C minor RH B*major LH
J =72, two notes C minor LH B> major LH EP major LH
per beat. B minor LH B minor LH B minor LH




